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QUESTION 1 

Refer to the exhibit. A network administrator adds a Mobility Controller (MC) in the /mm level and 
notices that the device does not show up in the managed networks hierarchy. The network 

administrator accesses the CLI. executes the show switches command, and obtains the output 

shown in the exhibit. 

 

 
 

What is the reason that the MC does not appear as a managed device in the hierarchy? 
 

A. The network administrator added the device using the wrong Pre-Shared Key (PSK). 

B. The network administrator has not moved the device into a group yet.  

C. The digital certificate of the MC is not trusted by the MM. 

D. The IP address of the MC does not match the one that was defined in the MM. 

 

Answer: B 

Explanation: 

UKN means unknown mac address. The MM doesn't know the mac address however the IP 
address is updated, so it form the IPSEC tunnel. 

You need to create a group and provide the device, name, Model number and Mac address, to fix 

this issue. 

 

 

QUESTION 2 
Refer to the exhibit. An Aruba network is deployed with L2 and L3 Mobility Master (MM) 

redundancy across two datacenters, as shown in the exhibit. The network administrator confirms 

that all Mobility Controllers (MC) are currently communicating with MM1, which is the L2 Active 

and, L3 Primary. 

Which MM IP will MCs communicate with if MM1 fails? 
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A. 10.1.1.10 

B. 10.1.1.12 

C. 10.2.1.10 

D. 10.2.1.21 

 

Answer: A 

Explanation: 

MCs will continue using the VRRP/VIP address , thats why we use VRRP first place , the 

question clearly asks about which IP MCs use in their communication MCs communication goes 

to MM2 (after MM1 fail) but the used IP in communication is VIP IP 10.1.1.10. 
 

 

QUESTION 3 

A network administrator assists with the migration of a WLAN from a third-party vendor to Aruba 

in different locations throughout the country. In order to manage the solution from a central point, 

the network administrator decides to deploy redundant Mobility Masters (MMs) in a datacenter 
that are reachable through the Internet. 

 

Since not all locations own public IP addresses, the security team is not able to configure strict 

firewall polices at the datacenter without disrupting some MM to Mobility Controller (MC) 

communications. They are also concerned about exposing the MMs to unauthorized inbound 

connection attempts. 
 

What should the network administrator do to ensure the solution is functional and secure? 

 

A. Deploy an MC at the datacenter as a VPN concentrator. 

B. Block all inbound connections, and instruct the MM to initiate  the connection to the MCs. 

C. Block all ports to the MMs except UDP 500 and 4500. 

D. Install a PEFV license, and configure firewall policies that protect the MM. 

 

Answer: C 
Explanation: 

Ports 4500 and 500 are essential for controller to controller communication , since other sites do 

not have static/available public IP , using VPN site to site by VPN concentrator is not an option 

here m question also states that both MMs are reachable on the internet already so blocking 

admin ports is essential. 

 
 

QUESTION 4 

A company has headquarters based in the US and rents internation office space in Mexico City 

so that 10 employees can work remotely. The company must implement a remote access 

technology so branch office employees can access all servers at the headquareters.  

 
The office has both wired and wireless internet connectivity, with no restrictions on what device 

connects to the network. However, ports UDP 4500, 5060, and 5061 are blocked by the primeter 

firewall. 

 

Which remote access technology is required to allow employees to access the servers at the 

headquarters? 
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A. BOC with CAPs 

B. IAP VPN 

C. RAP 

D. VIA 

 

Answer: A 

Explanation: 

Because VIA, RAP and IAP VPN use udp4500 for ipsec. But question says udp4500 blocked.  

 

 
QUESTION 5 

Refer to the exhibit. A network administrator configures a Mobility Master (MM)-Mobility Controller 

(MC) solution and integrates it with AirWave. The network administrator configures the SNMP 

and terminal credentials in the MM and MC, and then monitors the mobility devices from 

AirWave, including Clarity for user association and basic network services verification. However, 

AirWave does not display any UCC data that is available in the MM dashboard. Based on the 
information shown in the exhibit, which configuration step should the network administrator do 

next in the MM to complete the integration with AirWave? 

 

 
 

A. Define AirWave as a management server in the MM. 

B. Enable the inline network services statistics in the AMP profile. 

C. Enable UCC monitoring in the AMP profile. 

D. Verify the papi-security key in the AMP profile. 
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Answer: C 

Explanation: 
Default AMP mgmt profile has UCC monitoring disabled. 

 

 

QUESTION 6 

Refer to the exhibit. A network administrator configures an Instant AP (IAP) to establish an Aruba 

IPSec tunnel across the Internet, and configures two DHCP pools for wireless users. Based on 
the output shown in the exhibit, which device behaves as a DHCP server for the users? 

 

 
 

A. Mobility Master 

B. Mobility Controller 

C. External server 

D. DSL modem 

E. Virtual Controller 

 

Answer: E 

Explanation: 

This process happens when you deploy distributed mode. In distributed mode DHCP should be 

virtual controller. 
 

 

QUESTION 7 

An airline wants to invest in an Aruba Mobility (MM)-Mobility Controller (MC) solution for the three 

hubs it has throughout the country. A single MM is located in the datacenter at one of the hubs. 
The MCs in the other two hubs reach the MM through a site-to-site IPSec VPN. The operations 

team does not want to lose monitoring and configuration control of the MCs if something happens 

to the datacenter where the MM resides. Which solution ensures that there is management 

access to the MCs in case of an MM failure due to a datacenter outage?  

 

A. Deploy another MM in a different location, and enable L2 redundancy. 

B. Install AirWave Management Platform, and enable Read and Write Management access on 

devices. 

C. Deploy another MM in a different location, and enable L3 redundancy. 

D. Deploy a local MM on each hub, and synchronize the configuration between all MMs.  

 

Answer: C 

Explanation: 

L3 redundancy because of different physical location so IP communication is needed.  

 
 

QUESTION 8 
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Refer to the exhibit. A network administrator deploys a new WLAN named Corp-Network. The 

security suite is WPA2 with 802.1X. A new ClearPass server is used as the authentication server. 
Connection attempts to this WLAN are rejected, and no trace of the attempt is seen in the 

ClearPass Policy Manager Access Tracker. 

However, the network administrator is able to see the logs shown in the exhibit.  

What must the network administrator do to solve the problem? 

 

 
 

A. Add the correct network device IP address in ClearPass. 

B. Change the ClearPass server IP address in the MC. 

C. Fix the RADIUS shared secret in the MC. 

D. Disable machine authentication in the MC and client PC. 

 

Answer: C 

Explanation: 

Logs show response is bad digest from RADIUS. 

 

https://www.lead2pass.com/HPE6-A79.html
https://www.lead2pass.com/


★ Instant Download ★ PDF And VCE ★ 100% Passing Guarantee ★ 100% Money Back Guarantee 

 

                                                                                
Get Latest & Actual HPE6-A79 Exam's Question and Answers from Lead2pass.                                 
https://www.lead2pass.com 

7 

 

QUESTION 9 
Refer to the exhibit. A network engineer configures some VAPs in customer groups and creates a 

pool of licenses with enough units for seven APs. The network engineer deploys the first two APs, 

looks at the ap database, and notices the APs are inactive and experience licensing-related 

issues. Based on the show command outputs shown in the exhibit, what must the engineer do to 

solve the problem? 

 

 
 

A. Allocate two more MM-VA licenses to the pool. 

B. Allocate two more MC-VA-US licenses to the pool. 

C. Allocate seven more MM-VA licenses to the pool. 

D. Allocate seven more MC-VA-US licenses to the pool. 

 

Answer: C 

Explanation: 

As per the output total devices(controller+AP) = 8 
This is a hardware controller model 7030, answer B & D only applicable for VMs.  
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